

CHARACTERIZATION OF THE NORM TRIANGLE EQUALITY IN PRE-HILBERT C^* -MODULES AND APPLICATIONS

RAJNA RAJIĆ

*Dedicated to Professor Josip Pečarić
on the occasion of his 60th birthday*

Abstract. The characterization of the norm triangle equality in pre-Hilbert C^* -modules is given. The result is applied for describing the case of equality in some generalizations of the Dunkl-Williams inequality.

1. Introduction

Let V be a normed linear space. Then the triangle inequality

$$\|x + y\| \leq \|x\| + \|y\| \quad (1)$$

holds for all $x, y \in V$. The problem when the equality in (1) holds has been studied for different types of normed linear spaces by many authors (see, for example [1, 11, 3, 15, 2]).

In this paper we give a historical review of this investigation. More precisely, we present some known results on the characterization of the triangle equality in the case when V is the algebra of all bounded linear operators acting on a uniformly convex Banach space or a Hilbert space. (Recall that a normed linear space W is uniformly convex if and only if for every $\varepsilon > 0$ there exists $\delta > 0$ such that

$$(x, y \in W, \|x\| = \|y\| = 1, \|x - y\| \geq \varepsilon) \Rightarrow \left\| \frac{x + y}{2} \right\| \leq 1 - \delta.)$$

We proceed by extending these results in the context of an arbitrary C^* -algebra and finally in a pre-Hilbert C^* -module setting. It enables us to characterize the equality attainedness in a generalized Dunkl-Williams inequality and its reverse inequality for elements of a pre-Hilbert C^* -module.

Throughout this paper, we shall use X for denoting a uniformly convex Banach space and H for a Hilbert space. By $B(X)$ (resp. $B(H)$) we denote the algebra of all bounded linear operators on X (resp. H).

Mathematics subject classification (2000): 46L08, 47A12, 26D15.

Keywords and phrases: C^* -algebra, pre-Hilbert C^* -module, triangle inequality, Dunkl-Williams inequality, numerical range.

2. Characterization of the norm triangle equality

We consider the following problem: *When does the equality in (1) hold?*

It is well known that in the case of a strictly convex normed linear space V , the equality $\|x+y\| = \|x\| + \|y\|$ holds for nonzero vectors $x, y \in V$ if and only if $\frac{x}{\|x\|} = \frac{y}{\|y\|}$. (This characterization follows directly from Lemma 2.2 below.) In particular, the triangle equality in every inner-product space is characterized in this way.

Several authors considered this problem in the setting of the algebra $V = B(X)$. The first significant result was obtained in 1991 by Abramovich et al. [1] who solved this problem when one of the operators $A, B \in B(X)$ is the identity operator on X .

In what follows $\sigma_{ap}(T)$ will stand for the approximate point spectrum of $T \in B(X)$ (i.e., the set of all $\lambda \in \mathbb{C}$ for which there is a sequence (x_n) of unit vectors in X such that $\lim_{n \rightarrow \infty} \|Tx_n - \lambda x_n\| = 0$). By S^- we denote the topological closure of a set S .

THEOREM 2.1. ([1]) *If $A \in B(X)$, and $I \in B(X)$ is the identity operator, then $\|A+I\| = \|A\| + 1$ if and only if $\|A\| \in \sigma_{ap}(A)$.*

Another type of result in this direction was obtained in 1999 by Lin [11] who established the following theorem. To prove it, we need the following lemma, the proof of which can be found in [1, Lemma 2.1].

LEMMA 2.2. ([1]) *Let x and y be vectors in a normed linear space such that $\|x+y\| = \|x\| + \|y\|$, and let α and β be non-negative real numbers. Then $\|\alpha x + \beta y\| = \alpha\|x\| + \beta\|y\|$.*

THEOREM 2.3. ([11]) *Whenever $A, B \in B(X)$ satisfy the triangle equality $\|A+B\| = \|A\| + \|B\|$, then $0 \in \sigma_{ap}(\|B\|A - \|A\|B)$. Moreover, if X is a Hilbert space and either A or B is isometric, then the converse holds.*

Proof. Suppose that $\|A+B\| = \|A\| + \|B\|$ for some nonzero operators $A, B \in B(X)$. Let us denote $P = \frac{A}{\|A\|}$ and $Q = \frac{B}{\|B\|}$. Then by Lemma 2.2 we have $\|P+Q\| = 2$. So, there exists a sequence (x_n) of unit vectors in X such that $\lim_{n \rightarrow \infty} \|Px_n + Qx_n\| = 2$. From this we get $\lim_{n \rightarrow \infty} \|Px_n - Qx_n\| = 0$, since X is uniformly convex and $\|Px_n\| \leq 1$, $\|Qx_n\| \leq 1$ for all $n \in \mathbb{N}$. Hence, $\lim_{n \rightarrow \infty} \|(\|B\|A - \|A\|B)x_n\| = 0$, that is, $0 \in \sigma_{ap}(\|B\|A - \|A\|B)$.

Let us now suppose that X is a Hilbert space and A is an isometric operator. Let $0 \in \sigma_{ap}(\|B\|A - B)$. Then $\lim_{n \rightarrow \infty} \|(\|B\|A - B)x_n\| = 0$ for some sequence (x_n) of unit vectors in X . Since

$$\|(\|B\|A - B)x_n\| \geq \| \|B\|Ax_n - Bx_n \| = \|B\| \|Ax_n\| - \|Bx_n\| = \|B\| - \|Bx_n\| \geq 0$$

we have

$$0 = \lim_{n \rightarrow \infty} \|(\|B\|A - B)x_n\| \geq \|B\| - \lim_{n \rightarrow \infty} \|Bx_n\| \geq 0,$$

wherefrom $\lim_{n \rightarrow \infty} \|Bx_n\| = \|B\|$. Furthermore,

$$2\|B\| \geq \|(\|B\|A + B)x_n\| = \|(\|B\|A - B)x_n + 2Bx_n\| \geq 2\|Bx_n\| - \|(\|B\|A - B)x_n\|,$$

from which it follows that

$$2\|B\| \geq \lim_{n \rightarrow \infty} \|(\|B\|A + B)x_n\| \geq 2\|B\|,$$

that is, $\lim_{n \rightarrow \infty} \|(\|B\|A + B)x_n\| = 2\|B\|$. We conclude that $\| \|B\|A + B \| = 2\|B\|$, wherefrom $\|A + B\| = \|A\| + \|B\|$ by Lemma 2.2. \square

Note that the above theorem completely describes the triangle equality for Hilbert space operators under the condition that one of the operators is isometric.

In 2002 Barraa et al. [3] extended Lin's result to general Hilbert space operators by characterizing the triangle equality in terms of the classical numerical range. (Recall that the *classical numerical range* of $T \in B(H)$ is defined as $W(T) = \{(Tx, x) : x \in H, \|x\| = 1\}$.)

THEOREM 2.4. ([3]) *Let $A, B \in B(H)$. Then the equality $\|A + B\| = \|A\| + \|B\|$ holds if and only if $\|A\|\|B\| \in W(A^*B)^-$.*

Proof. Suppose $\|A + B\| = \|A\| + \|B\|$. There exists a sequence (x_n) of unit vectors in H such that $\lim_{n \rightarrow \infty} \|Ax_n + Bx_n\| = \|A\| + \|B\|$. Since

$$\|Ax_n + Bx_n\| \leq \|Ax_n\| + \|Bx_n\| \leq \|A\| + \|Bx_n\| \leq \|A\| + \|B\|$$

we have $\lim_{n \rightarrow \infty} (\|A\| + \|Bx_n\|) = \|A\| + \|B\|$, that is, $\lim_{n \rightarrow \infty} \|Bx_n\| = \|B\|$. Similarly, we obtain $\lim_{n \rightarrow \infty} \|Ax_n\| = \|A\|$. Therefore, from the identity

$$\|Ax_n + Bx_n\|^2 = \|Ax_n\|^2 + \|Bx_n\|^2 + 2\text{Re}(A^*Bx_n, x_n) \tag{2}$$

it follows that

$$\lim_{n \rightarrow \infty} \text{Re}(A^*Bx_n, x_n) = \|A\|\|B\|.$$

Since

$$|(A^*Bx_n, x_n)| = ((\text{Re}(A^*Bx_n, x_n))^2 + (\text{Im}(A^*Bx_n, x_n))^2)^{\frac{1}{2}},$$

and $|(A^*Bx_n, x_n)| \leq \|A\|\|B\|$, we deduce that

$$\lim_{n \rightarrow \infty} |(A^*Bx_n, x_n)| = \|A\|\|B\|.$$

Thus, $\lim_{n \rightarrow \infty} \text{Im}(A^*Bx_n, x_n) = 0$, wherefrom $\lim_{n \rightarrow \infty} (A^*Bx_n, x_n) = \|A\|\|B\|$, i.e., $\|A\|\|B\| \in W(A^*B)^-$.

Conversely, let us suppose that $\|A\|\|B\| \in W(A^*B)^-$. Then there is a sequence (x_n) of unit vectors in H such that $\lim_{n \rightarrow \infty} (A^*Bx_n, x_n) = \|A\|\|B\|$. Thus, $\lim_{n \rightarrow \infty} \text{Re}(A^*Bx_n, x_n) = \|A\|\|B\|$. Since $|(A^*Bx_n, x_n)| \leq \|Ax_n\|\|B\| \leq \|A\|\|B\|$, we conclude that $\lim_{n \rightarrow \infty} \|Ax_n\| = \|A\|$. Similarly, we get $\lim_{n \rightarrow \infty} \|Bx_n\| = \|B\|$. Now, (2) implies $\lim_{n \rightarrow \infty} \|Ax_n + Bx_n\| = \|A\| + \|B\|$, wherefrom $\|A + B\| = \|A\| + \|B\|$. \square

REMARK 2.5. It is known that $\|A\| \in W(A)^-$ if and only if $\|A\| \in \sigma_{ap}(A)$ (see e.g. [8]). From this, one can easily deduce that $\|A\| \|B\| \in W(A^*B)^-$ if and only if $\|A\| \|B\| \in \sigma_{ap}(A^*B)$.

The concept of the classical numerical range can be naturally extended for elements of an arbitrary C^* -algebra. If \mathcal{A} is a C^* -algebra, we define the *numerical range* of an arbitrary element $a \in \mathcal{A}$ as the set

$$V(a) = \{\varphi(a) : \varphi \text{ is a state of } \mathcal{A}\}.$$

This set generalizes the classical numerical range in the sense that the numerical range $V(T)$ of a Hilbert space operator T (considered as an element of a C^* -algebra $B(H)$) coincides with the closure of its classical numerical range $W(T)$ (see [18]). (For more details about numerical ranges the reader is referred to [4, 5].)

Thus, one can ask if the C^* -algebraic version of Theorem 2.4 holds. The answer is affirmative and was given by Nakamoto et al. in [15]. They proved the following theorem.

THEOREM 2.6. ([15]) *Let \mathcal{A} be a C^* -algebra and $a, b \in \mathcal{A}$. Then the equality $\|a + b\| = \|a\| + \|b\|$ holds if and only if $\|a\| \|b\| \in V(a^*b)$.*

Arambašić et al. [2] observed that Theorem 2.6 can be further generalized in the framework of pre-Hilbert C^* -modules. Pre-Hilbert C^* -modules are a straightforward generalization of inner-product spaces where the scalar field \mathbb{C} is replaced by a C^* -algebra. The basic theory of pre-Hilbert C^* -modules can be found in [10, 19].

The formal definition is as follows.

A *right pre-Hilbert C^* -module V over a C^* -algebra \mathcal{A}* (or a *right pre-Hilbert \mathcal{A} -module*) is a linear space which is a right \mathcal{A} -module (with a compatible scalar multiplication: $\lambda(xa) = (\lambda x)a = x(\lambda a)$ for $x \in V$, $a \in \mathcal{A}$, $\lambda \in \mathbb{C}$), equipped with an \mathcal{A} -valued inner-product $\langle \cdot, \cdot \rangle : V \times V \rightarrow \mathcal{A}$ that is sesquilinear, positive definite and respects the module action. In other words:

- (i) $\langle x, \alpha y + \beta z \rangle = \alpha \langle x, y \rangle + \beta \langle x, z \rangle$ for $x, y, z \in V$, $\alpha, \beta \in \mathbb{C}$,
- (ii) $\langle x, ya \rangle = \langle x, y \rangle a$ for $x, y \in V$, $a \in \mathcal{A}$,
- (iii) $\langle x, y \rangle^* = \langle y, x \rangle$ for $x, y \in V$,
- (iv) $\langle x, x \rangle \geq 0$ for $x \in V$; if $\langle x, x \rangle = 0$ then $x = 0$.

For a pre-Hilbert C^* -module V the Cauchy-Schwarz inequality holds:

$$\|\langle x, y \rangle\|^2 \leq \|\langle x, x \rangle\| \|\langle y, y \rangle\|, \quad (x, y \in V).$$

Consequently, $\|x\| = \|\langle x, x \rangle\|^{\frac{1}{2}}$ defines a norm on V .

A pre-Hilbert \mathcal{A} -module which is complete with respect to its norm is called a *Hilbert C^* -module over \mathcal{A}* , or a *Hilbert \mathcal{A} -module*.

Given a positive functional φ of a C^* -algebra \mathcal{A} , we have the following useful version of the Cauchy-Schwarz inequality:

$$|\varphi(\langle x, y \rangle)|^2 \leq \varphi(\langle x, x \rangle) \varphi(\langle y, y \rangle)$$

for arbitrary elements x, y of a pre-Hilbert C^* -module V .

REMARK 2.7. (a) The ordinary inner-product spaces are left pre-Hilbert \mathbb{C} -modules.

(b) Every C^* -algebra \mathcal{A} is a Hilbert \mathcal{A} -module under the inner product defined by $\langle a, b \rangle = a^*b$. The corresponding norm is just the norm on \mathcal{A} because of the C^* -condition.

The following result characterizes the triangle equality for elements of a pre-Hilbert C^* -module.

THEOREM 2.8. ([2]) *Let \mathcal{A} be a C^* -algebra, V a pre-Hilbert \mathcal{A} -module and $x, y \in V$. Then the equality $\|x + y\| = \|x\| + \|y\|$ holds if and only if $\|x\|\|y\| \in V(\langle x, y \rangle)$.*

Proof. Suppose that $\|x + y\| = \|x\| + \|y\|$. There is a state φ on \mathcal{A} such that $\varphi(\langle x + y, x + y \rangle) = \|\langle x + y, x + y \rangle\| = \|x + y\|^2$. Then we have

$$\begin{aligned} \|x + y\|^2 &= \varphi(\langle x + y, x + y \rangle) \\ &= \varphi(\langle x, x \rangle) + \varphi(\langle x, y \rangle) + \varphi(\langle y, x \rangle) + \varphi(\langle y, y \rangle) \\ &\leq \|x\|^2 + 2\|x\|\|y\| + \|y\|^2 = (\|x\| + \|y\|)^2 = \|x + y\|^2, \end{aligned}$$

from which it follows that $\varphi(\langle x, x \rangle) = \|x\|^2$, $\varphi(\langle y, y \rangle) = \|y\|^2$ and $\varphi(\langle x, y \rangle) = \|x\|\|y\|$. Hence, $\|x\|\|y\| \in V(\langle x, y \rangle)$.

Conversely, suppose $\|x\|\|y\| \in V(\langle x, y \rangle)$. Then there is a state φ on \mathcal{A} such that $\varphi(\langle x, y \rangle) = \|x\|\|y\|$. From the Cauchy-Schwarz inequality we get

$$\begin{aligned} \|x\|\|y\| &= |\varphi(\langle x, y \rangle)| \leq \varphi(\langle x, x \rangle)^{\frac{1}{2}} \varphi(\langle y, y \rangle)^{\frac{1}{2}} \\ &\leq \|\langle x, x \rangle\|^{\frac{1}{2}} \|\langle y, y \rangle\|^{\frac{1}{2}} = \|x\|\|y\| \end{aligned}$$

and then $\varphi(\langle x, x \rangle) = \|x\|^2$ and $\varphi(\langle y, y \rangle) = \|y\|^2$. Now we have

$$\begin{aligned} \varphi(\langle x + y, x + y \rangle) &= \varphi(\langle x, x \rangle) + \varphi(\langle x, y \rangle) + \varphi(\langle y, x \rangle) + \varphi(\langle y, y \rangle) \\ &= \|x\|^2 + 2\|x\|\|y\| + \|y\|^2 = (\|x\| + \|y\|)^2. \end{aligned}$$

Since $\varphi(\langle x + y, x + y \rangle) \leq \|\langle x + y, x + y \rangle\| = \|x + y\|^2$, we get $\|x + y\| = \|x\| + \|y\|$. \square

REMARK 2.9. (a) We have already noted that every inner-product space $(V, (\cdot, \cdot))$ is a pre-Hilbert \mathbb{C} -module. Since the only state on \mathbb{C} is the identity operator, the preceding theorem tells us that the equality $\|x + y\| = \|x\| + \|y\|$ is valid for $x, y \in V$ precisely when $(x, y) = \|x\|\|y\|$. The second equality holds if and only if $x = \lambda y$ or $y = \lambda x$ for some constant $\lambda \geq 0$, which is a well-known characterization of the equality $\|x + y\| = \|x\| + \|y\|$ in inner-product spaces.

(b) It is evident from Remark 2.7 (b) that Theorem 2.8 also generalizes Nakamoto and Takahasi's result (i.e., Theorem 2.6) in the context of pre-Hilbert C^* -modules.

Characterization of the triangle equality for an arbitrary number of finitely many elements of a pre Hilbert C^* -module was also obtained in [2].

THEOREM 2.10. ([2]) *Let \mathcal{A} be a C^* -algebra, V a pre-Hilbert \mathcal{A} -module and x_1, \dots, x_n nonzero elements of V . Then the equality $\|x_1 + \dots + x_n\| = \|x_1\| + \dots + \|x_n\|$ holds if and only if there is a state φ of \mathcal{A} such that $\varphi(\langle x_i, x_n \rangle) = \|x_i\| \|x_n\|$ for $i = 1, \dots, n-1$.*

Proof. Indeed, from $\|x_1 + \dots + x_n\| = \|x_1\| + \dots + \|x_n\|$ we obtain that

$$\|x_1\| + \dots + \|x_n\| = \|x_1 + \dots + x_n\| \leq \|x_1 + \dots + x_{n-1}\| + \|x_n\|$$

from which it follows that $\|x_1 + \dots + x_{n-1}\| = \|x_1\| + \dots + \|x_{n-1}\|$ and so $\|(x_1 + \dots + x_{n-1}) + x_n\| = \|x_1 + \dots + x_{n-1}\| + \|x_n\|$. By Theorem 2.8 there is a state φ on \mathcal{A} such that

$$\varphi(\langle x_1 + \dots + x_{n-1}, x_n \rangle) = \|x_1 + \dots + x_{n-1}\| \|x_n\| = (\|x_1\| + \dots + \|x_{n-1}\|) \|x_n\|.$$

Then $\varphi(\langle x_1, x_n \rangle) + \dots + \varphi(\langle x_{n-1}, x_n \rangle) = \|x_1\| \|x_n\| + \dots + \|x_{n-1}\| \|x_n\|$ which implies $\varphi(\langle x_i, x_n \rangle) = \|x_i\| \|x_n\|$ for $i = 1, \dots, n-1$. The converse is proved in a similar way. \square

3. Some applications

Maligranda [12] obtained the following refinement of the triangle inequality and its reverse inequality.

THEOREM 3.1. ([12]) *For any nonzero elements x and y in a normed linear space V we have*

$$\|x + y\| \leq \|x\| + \|y\| - \left(2 - \left\| \frac{x}{\|x\|} + \frac{y}{\|y\|} \right\| \right) \min\{\|x\|, \|y\|\} \quad (3)$$

and

$$\|x + y\| \geq \|x\| + \|y\| - \left(2 - \left\| \frac{x}{\|x\|} + \frac{y}{\|y\|} \right\| \right) \max\{\|x\|, \|y\|\}. \quad (4)$$

Proof. Without loss of generality we may assume that $\|x\| \leq \|y\|$. Then, by the triangle inequality

$$\begin{aligned} \|x + y\| &= \left\| \frac{\|x\|}{\|x\|}x + \frac{\|x\|}{\|y\|}y + \left(1 - \frac{\|x\|}{\|y\|}\right)y \right\| \\ &\leq \|x\| \left\| \frac{x}{\|x\|} + \frac{y}{\|y\|} \right\| + \|y\| - \|x\| \\ &= \|y\| + \left(\left\| \frac{x}{\|x\|} + \frac{y}{\|y\|} \right\| - 1 \right) \|x\| \\ &= \|x\| + \|y\| + \left(\left\| \frac{x}{\|x\|} + \frac{y}{\|y\|} \right\| - 2 \right) \|x\|, \end{aligned}$$

which establishes the estimate (3). Similarly, the computation

$$\begin{aligned} \|x + y\| &= \left\| \frac{\|y\|}{\|y\|}y + \frac{\|y\|}{\|x\|}x + \left(1 - \frac{\|y\|}{\|x\|}\right)x \right\| \\ &\geq \|y\| \left\| \frac{y}{\|y\|} + \frac{x}{\|x\|} \right\| - \|x\| - \|y\| \\ &= \|y\| \left\| \frac{y}{\|y\|} + \frac{x}{\|x\|} \right\| - \|y\| + \|x\| \\ &= \|x\| + \|y\| - \left(2 - \left\| \frac{x}{\|x\|} + \frac{y}{\|y\|} \right\| \right) \|y\| \end{aligned}$$

gives the inequality (4). \square

Observe that the inequalities (3) and (4) can be rewritten as the estimates for the angular distance $\alpha[x, y] = \left\| \frac{x}{\|x\|} - \frac{y}{\|y\|} \right\|$ introduced by Clarkson in [6]. Namely, it is evident that (4) is equivalent to

$$\left\| \frac{x}{\|x\|} - \frac{y}{\|y\|} \right\| \leq \frac{\|x - y\| + \left| \|x\| - \|y\| \right|}{\max\{\|x\|, \|y\|\}}, \tag{5}$$

while (3) is equivalent to

$$\left\| \frac{x}{\|x\|} - \frac{y}{\|y\|} \right\| \geq \frac{\|x - y\| - \left| \|x\| - \|y\| \right|}{\min\{\|x\|, \|y\|\}}. \tag{6}$$

(For another proof of (6) see also [14].)

The inequality (5) provides a refinement of the Massera-Schäffer inequality [13] which states that

$$\left\| \frac{x}{\|x\|} - \frac{y}{\|y\|} \right\| \leq \frac{2\|x - y\|}{\max\{\|x\|, \|y\|\}} \tag{7}$$

for any two nonzero elements x and y in a normed linear space V . Also, (7) sharpens the Dunkl-Williams inequality [7]:

$$\left\| \frac{x}{\|x\|} - \frac{y}{\|y\|} \right\| \leq \frac{4\|x - y\|}{\|x\| + \|y\|} \quad (x, y \in V \setminus \{0\}). \tag{8}$$

Generalizations of (3) and (4) for $n \in \mathbb{N}$ elements of a normed linear space were given by Kato et al. [9] who proved the following theorem.

THEOREM 3.2. ([9]) *Let V be a normed linear space and x_1, \dots, x_n nonzero elements of V . Then we have*

$$\left\| \sum_{j=1}^n x_j \right\| \leq \sum_{j=1}^n \|x_j\| - \left(n - \left\| \sum_{j=1}^n \frac{x_j}{\|x_j\|} \right\| \right) \min_{j \in \{1, \dots, n\}} \|x_j\| \tag{9}$$

and

$$\left\| \sum_{j=1}^n x_j \right\| \geq \sum_{j=1}^n \|x_j\| - \left(n - \left\| \sum_{j=1}^n \frac{x_j}{\|x_j\|} \right\| \right) \max_{j \in \{1, \dots, n\}} \|x_j\|. \tag{10}$$

The above result was improved in [16]:

THEOREM 3.3. ([16]) *Let V be a normed linear space and x_1, \dots, x_n nonzero elements of V . Then we have*

$$\left\| \sum_{j=1}^n \frac{x_j}{\|x_j\|} \right\| \leq \min_{i \in \{1, \dots, n\}} \left\{ \frac{1}{\|x_i\|} \left(\left\| \sum_{j=1}^n x_j \right\| + \sum_{j=1}^n \left| \|x_j\| - \|x_i\| \right| \right) \right\} \tag{11}$$

and

$$\left\| \sum_{j=1}^n \frac{x_j}{\|x_j\|} \right\| \geq \max_{i \in \{1, \dots, n\}} \left\{ \frac{1}{\|x_i\|} \left(\left\| \sum_{j=1}^n x_j \right\| - \sum_{j=1}^n \left| \|x_j\| - \|x_i\| \right| \right) \right\}. \tag{12}$$

REMARK 3.4. When $n = 2$ the inequalities (5) and (6) immediately follow by putting $x_1 := x$ and $x_2 := -y$ in (11) and (12), respectively.

Moreover, it can be easily verified that (11) implies (10), while (12) implies (9).

Finally, we present the characterizations of the case of equality in (11) and (12) for elements of pre-Hilbert C^* -modules. These characterizations were obtained in [17] by using Theorem 2.10.

THEOREM 3.5. ([17]) *Let V be a pre-Hilbert \mathcal{A} -module and x_1, \dots, x_n nonzero elements of V such that $\sum_{j=1}^n x_j \neq 0$. Then equality holds in (11) if and only if $\|x_1\| = \dots = \|x_n\|$ or there exist $i \in \{1, \dots, n\}$ and a state φ of \mathcal{A} satisfying*

$$\operatorname{sgn}(\|x_i\| - \|x_k\|) \sum_{j=1}^n \varphi(\langle x_j, x_k \rangle) = \left\| \sum_{j=1}^n x_j \right\| \|x_k\|$$

for all $k \in \{1, \dots, n\}$ such that $\|x_k\| \neq \|x_i\|$.

THEOREM 3.6. ([17]) *Let V be a pre-Hilbert \mathcal{A} -module and x_1, \dots, x_n nonzero elements of V such that $\sum_{j=1}^n x_j = 0$. Then equality holds in (11) if and only if $\|x_1\| = \dots = \|x_n\|$ or there exist $i, k \in \{1, \dots, n\}$ satisfying $\|x_i\| \neq \|x_k\|$ and a state φ of \mathcal{A} such that*

$$\operatorname{sgn}(\|x_i\| - \|x_j\|) \operatorname{sgn}(\|x_i\| - \|x_k\|) \varphi(\langle x_j, x_k \rangle) = \|x_j\| \|x_k\|$$

for all $j \in \{1, \dots, n\} \setminus \{k\}$ such that $\|x_j\| \neq \|x_i\|$.

THEOREM 3.7. ([17]) *Let V be a pre-Hilbert \mathcal{A} -module and x_1, \dots, x_n nonzero elements of V such that $\sum_{j=1}^n \frac{x_j}{\|x_j\|} \neq 0$. Then equality holds in (12) if and only if $\|x_1\| = \dots = \|x_n\|$ or there exist $i \in \{1, \dots, n\}$ and a state φ of \mathcal{A} satisfying*

$$\operatorname{sgn}(\|x_k\| - \|x_i\|) \sum_{j=1}^n \varphi\left(\left\langle \frac{x_j}{\|x_j\|}, x_k \right\rangle\right) = \left\| \sum_{j=1}^n \frac{x_j}{\|x_j\|} \right\| \|x_k\|$$

for all $k \in \{1, \dots, n\}$ such that $\|x_k\| \neq \|x_i\|$.

THEOREM 3.8. ([17]) *Let V be a pre-Hilbert \mathcal{A} -module and x_1, \dots, x_n nonzero elements of V such that $\sum_{j=1}^n \frac{x_j}{\|x_j\|} = 0$. Then equality holds in (12) if and only if $\|x_1\| = \dots = \|x_n\|$ or there exist $i, k \in \{1, \dots, n\}$ satisfying $\|x_i\| \neq \|x_k\|$ and a state φ of \mathcal{A} such that*

$$\operatorname{sgn}(\|x_i\| - \|x_j\|) \operatorname{sgn}(\|x_i\| - \|x_k\|) \varphi(\langle x_j, x_k \rangle) = \|x_j\| \|x_k\|$$

for all $j \in \{1, \dots, n\} \setminus \{k\}$ such that $\|x_j\| \neq \|x_i\|$.

Acknowledgement. The author would like to thank the referee for valuable suggestions and comments.

REFERENCES

- [1] Y. A. ABRAMOVICH, C. D. ALIPRANTIS, O. BURKINSHAW, *The Daugavet equation in uniformly convex Banach spaces*, J. Func. Anal., **97** (1991), 215–230.
- [2] L.J. ARAMBAŠIĆ, R. RAJIĆ, *On some norm equalities in pre-Hilbert C^* -modules*, Linear Algebra Appl., **414** (2006), 19–28.
- [3] M. BARRAA, M. BOUMAZGOUR, *Inner derivations and norm equality*, Proc. Amer. Math. Soc., **130**, 2 (2002), 471–476.
- [4] F. F. BONSALL, J. DUNCAN, *Numerical ranges of operators on normed spaces and elements of normed algebras*, London Math. Soc. Lecture Note Series 2, Cambridge University Press, Cambridge, 1971.
- [5] F. F. BONSALL, J. DUNCAN, *Numerical ranges II*, London Math. Soc. Lecture Note Series 10, Cambridge University Press, Cambridge, 1973.
- [6] J. A. CLARKSON, *Uniformly convex spaces*, Trans. Amer. Math. Soc., **40** (1936), 396–414.
- [7] C. F. DUNKL, K. S. WILLIAMS, *A simple norm inequality*, Amer. Math. Monthly, **71** (1964), 53–54.
- [8] P. R. HALMOS, *A Hilbert space Problem Book*, Van Nostrand, Princeton, 1970.
- [9] M. KATO, K. S. SAITO, T. TAMURA, *Sharp triangle inequality and its reverse in Banach spaces*, Math. Inequal. Appl., **10**, 2 (2007), 451–460.
- [10] C. LANCE, *Hilbert C^* -modules*, London Math. Soc. Lecture Note Series 210, Cambridge University Press, Cambridge, 1995.
- [11] C. S. LIN, *The unilateral shift and a norm equality for bounded linear operators*, Proc. Amer. Math. Soc., **127**, 6 (1999), 1693–1696.
- [12] L. MALIGRANDA, *Simple norm inequalities*, Amer. Math. Monthly, **113** (2006), 256–260.
- [13] J. L. MASSERA, J. J. SCHÄFFER, *Linear differential equations and functional analysis I*, Ann. of Math., **67** (1958), 517–573.
- [14] P. R. MERCER, *The Dunkl-Williams inequality in an inner-product space*, Math. Inequal. Appl., **10**, 2 (2007), 447–450.
- [15] R. NAKAMOTO, S. TAKAHASI, *Norm equality condition in triangular inequality*, Sci. Math. Jpn., **55**, 3 (2002), 463–466.
- [16] J. PEČARIĆ, R. RAJIĆ, *The Dunkl-Williams inequality with n elements in normed linear spaces*, Math. Inequal. Appl., **10**, 2 (2007), 461–470.
- [17] J. PEČARIĆ, R. RAJIĆ, *The Dunkl-Williams equality in pre-Hilbert C^* -modules*, Linear Algebra Appl., **425** (2007), 16–25.
- [18] J. G. STAMPFLI, J. P. WILLIAMS, *Growth conditions and the numerical range in a Banach algebra*, Tôhoku Math. J., **20** (1968), 417–424.
- [19] N. E. WEGGE-OLSEN, *K -Theory and C^* -Algebras - A Friendly Approach*, Oxford University Press, Oxford, 1993.

(Received September 10, 2008)

Rajna Rajić
Faculty of Mining, Geology and Petroleum Engineering
University of Zagreb
Pierottičeva 6
10000 Zagreb, Croatia
e-mail: rajna.rajic@zg.t-com.hr